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< 6,382,083
Al 26,400,282
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= 4,081,188
J| 66,964
< 4,218,272
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= 148,764
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< 3,717,702
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< 201,264
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101 @124l 9,450 6,680 2,770
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O FArze 88 & SHIJ &Y R 9,450
o o2y 68,720& * 5F * 52 * 53 8,590
o MEBAZ ALY
6,880& * 5F * 52 » 53 860
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< 6,612
Al 37,468
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O g=2sHld=2 5
7,000& = 3702 = 128 31,080
= 4,662
Al 26,418
O s=3x3=sZAE E= 50008 » 1008 » 128 6,000
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Al 5,100
O Hdsgellz 232 70,000& * 100% 7,000
< 1,050
Al 5,950
202 (44l 1,600 1,600 0
01 = LH o4 1l 1,600 1,600 0
O sgel ogsd XN Ol
20,000& = 4% = 203/ 1,600
203 YR =&l 6,000 6,000 0
03 A F=AH S =AY 6,000 6,000 0
O 59l 2 YA =7
6,000,000& = 14 6,000
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Al 453,120
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O sgel Jdstka X
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O sZENEis s2d8AM X
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O sEMENsS dgLstus a4 24
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35,909,000& * 14l 35,909
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o Yy &7 s & EH
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Ol
0y

Al 2,250

01 AFR2t2lHl 4,500 4,500 0
O Y Fg=s d¢ - 29|
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= N
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= M W
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ge gs3x N
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= M
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= 2,516
< 453
Al 81,057
02 It M AHEE 80,000 80,000 0
O 3448 ¢ -=s& MEW=sH XN&
10,000& * 8,000 80,000
06 23 4,026 3,461 565
O sEdgs2d0s ¢ - s HEE ey N2
4,026,000 * 14 4,026
= 2,516
< 453
Al 1,057
MEgotgeld uvs XA 1,680 1,680 0
= 1,050
< 189
Al 441
307 g1+l & 1,680 1,680 0
= 1,050
< 189
Al 441
02 QIZtE M AHEE 1,680 1,680 0
O sEMgitseld dgdst us
300,000& = 7IH2A = 80% 1,680
= 1,050
< 189
Al 441
SHZHUS HA 15,000 23,000 A 8,000
307 glz2tol & 15,000 23,000 A 8,000
04 DI2HHALALSE E X 15,000 13,000 2,000
O HM1938] H==Al sLZAHASE A
15,000,000& * 13l 15,000
sgZge d3UE 9,000 0 9,000
307 glz2tol & 9,000 0 9,000
02 IZHE M AHE L 9,000 0 9,000
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s& 2300lssdH 29 N 10,100 8,200 1,900
= 10,100
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JAEBNEE 73,340 107,142 A33,802
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O sX0lE Af & =& ol
20,000& = 2% = 30¢ 1,200
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Chel: AR OLF Mt (S5 &)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 5,000 5,000 0
O BASEMASHAMY F& 0l
263,157& * 190 S = 5,000
J| 5,000
ENpal—TuESE=3=, 500,000 500,000 0
= 400,000
< 30,000
Al 70,000
301 LEHZ 500,000 500,000 0
= 400,000
< 30,000
Al 70,000
12JEEd=S 500,000 500,000 0
O X=X MALY
500,000& = 1,000ha 500,000
= 400,000
< 30,000
Al 70,000
=g JIAHSALY 513,800 385,000 128,800
< 82,500
Al 431,300
402 2I2H X201 M 513,800 385,000 128,800
< 82,500
Al 431,300
01 2I2FH 2 A B (KM ) 238,800 110,000 128,800
O gxs8 222 XN
2,200,000& = 100CH * 50% 110,000
O gxg 22l NI (KNHMEH)
2,400,000& = 150CH * 18% 64,800
O 2xg8 5 Kol orMsS=2 =&
2,000,000& = 80CH * 40% 64,000
02 QI E2AIE EZ (01X THS) 275,000 275,000 0
O =8 28 sJH 7Y X&
2,500,000& = 220CH * 50% 275,000
< 82,500
Al 192,500
NEE & A JJAY 499,498 475,338 24,160
< 6,702
Al 492,796
201 £B-2dH| 4,200 4,200 0
< 342
Al 3,858
01 At 2t 2|l 4,200 4,200 0
O S&tl 1,920
o SEYLEI HOX S2OHAY|
8,000& = 120 = 23] 1,920
O st=2x=sgeE E5 50008 » 38F » 128 2,280
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202 O4dl 900 900 0
01 = LH 4 Hl 900 900 0
O NZE A M =0 =
20,000& = 3% = 153/ 900
206 M= Hl 44,250 1,710 42,540
01 M= 4l 44,250 1,710 42,540
O s&Ed&s) MM 2L 15,0002 * 1504 2,250
O Bl sos 438 &KX
420,000& = 100CH 42,000
301 LPEAZ 7,328 5,428 1,900
09 HALAHIXI &3 7,328 5,428 1,900
O DEX ¥ MUAM SO s DS &
A AYl 24 50,000& = 259 « 23] 2,500
O #Mgs A &4 Al 24
100,000& = 35H » 1« 3,500
O s&Eg&EsI UL =4
8,000& = 83Y « 23] 1,328
307 glz2tol & 232,000 232,000 0
02 IZtE M AMHEE 232,000 232,000 0
O asd8 dHlz XA 2,320& = 100,000% 232,000
402 RIZ2HXt20l ™ 210,820 231,100 220,280
< 6,360
Al 204,460
01 212t 2 AL E = (REMTH ) 198,100 219,100 A 21,000
O 3¢ Hdl=2Xel X X&
2,000& = 4,550&F Xt 9,100
OH SRE &4 SsSAY
189,000,000& * 14l 189,000
02 It 2 AL EZ(OI XM THS) 12,720 12,000 720
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530,000& = 30CH = 80% 12,720
< 6,360
Al 6,360
ANASa &S WOaHI] ZdAY 5,500 7,500 A 2,000
< 1,650
Al 3,850
301 LA F 5,500 7,500 A 2,000
< 1,650
Al 3,850
12JIE243 5,500 7,500 A 2,000
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< 1,650
Al 3,850
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= 17,800
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= 10,940
202 O4Hl 6,860 6,860 0
= 6,860
01 = LH 4 Hi 6,860 6,860 0
O Z€sgA=SHALY =& Ol
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gdsgA=S 500,000 500,000 0
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301 LEPENF 500,000 500,000 0
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< 60,480
Al 141,120
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< 46,000
Al 92,400
(=== 138,400 82,000 56,400
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 D12t 22 Xt 9,450 8,350 1,100
O &3 b & &) 9,450
o IRy 68,7203 * 259 » 5¢ 8,590
o Mzl ~% 6,8808 * 258 * 5Y 860
307 21201 A 1,107,460 1,921,004 A 813,544
= 553,730
Al 553,730
02 QB AANGFEX 1,107,460 1,921,004 A 813,544
O ®JI&H 2,000& = 553,730% 1,107,460
= 553,730
Al 553,730
SIEHEX 2 (X AHMER) 214,672 0 214,672
307 21201 A 214,672 0 214,672
02 SIZtE &AL 2 214,672 0 214,672
O RIEHE NA(NMHER)
2,000& = 214,672% * 50% 214,672
EZMBH XA 357,447 215,428 142,019
= 233,680
< 29,490
Al 94,277
307 21201 A 357,447 215,428 142,019
= 233,680
< 29,490
Al 94,277
02 212t &AL 357,447 215,428 142,019
O EZHEN XA 357,447,000& * 14 357,447
= 233,680
< 29,490
Al 94,277
dEtd sit=E o o 1,626,991 1,518,477 108,514
< 139,921
Al 1,487,070
202 O4dl 1,280 1,280 0
01 =L 4 Hi 1,280 1,280 0
O HSASAST ZHAY 28 NE
20,0003 = 4H « 163l 1,280
301 EEMZ 1,313,727 1,213,727 100,000
< 129,145
Al 1,184,582
12|24 = 1,313,727 1,213,727 100,000
O dezadsgdei =4 759,678& = 850ha 645,727
< 129,145
Al 516,582
O Y b ASEHES X
600,000,000& * 14! 600,000




2N sYEH
HH: AW S SYHSLN/5Y - 58)
Sl HEY SUASH U N CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O RIlsH 5=t NI 400,000& * 170ha 68,000
402 RIZ2EXt20l ™ 311,984 303,470 8,514
< 10,776
Al 301,208
01 RIZt Xt 2 AL E = (REA &) 215,000 215,000 0
O =2 dois &M X X&
333,333& * 600ha 200,000
O eI is=Z=I| XA
300,000& * 10ha * 10CH * 50% 15,000
02 RIZE 2 AL EZ (OIS ) 96,984 88,470 8,514
O M40l 2= XI&  96,984,000& ~ 14 96,984
< 10,776
Al 86,208
RIS XA 58,863 9,000 49,863
= 23,545
< 10,595
Al 24,723
402 2I2H X201 M 58,863 9,000 49,863
= 23,545
< 10,595
Al 24,723
02 2IZE 2 A EZ (OIS ) 58,863 9,000 49,863
O RIN=sYXM XA
1,681,800& * 70ha * 50% 58,863
= 23,545
< 10,595
Al 24,723
detdsgy A2 190,229 190,229 0
= 189,469
Al 760
202 O4dl 760 760 0
01 = LH 4 b 760 760 0
O Bed=ANEH ANSEH NG
20,0004 = 28 = 193] 760
301 LeEBAF 189,469 189,469 0
= 189,469
12 JIEtE4 = 189,469 189,469 0
O SIS HAEY 625,310& = 303ha 189,469
= 189,469
dd ssIt NE 655,958 655,958 0
< 91,732
Al 564,226
301 LEMZ 655,958 655,958 0
< 91,732
Al 564,226
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12JEEd= 655,958 655,958 0
O ZsAs4e Ay X
666,000& = 300 199,800
Z=0t XY 666,0002 * 5002 333,000
= 66,600
Al 266,400
S5 A K
250,000 * 20A 5,000
< 1,500
Al 3,500
A= MALS
419,000& = 282ha 118,158
< 23,632
Al 94,526
= =g - sE) 2,795,171 2,591,475 203,696
2 174,688
J| 651,998
< 277,481
Al 1,691,004
1,598,257 1,520,555 77,702
= 1,200
J| 490,450
< 159,926
Al 946,681
delXl M= X 65,880 21,600 44,280
J| 21,960
< 4,392
Al 39,528
U 65,880 21,600 44,280
J| 21,960
< 4,392
Al 39,528
o= 65,880 21,600 44,280
SMAE AN MZE K&
60,000& = 1,220&€ * 90% 65,880
J| 21,960
< 4,392
Al 39,528
4,158 4,950 AT92
J| 4,158
4,158 4,950 AT92
J| 4,158
12JIEE4 =3 4,158 4,950 AT92
ZN7Y N
164,990& = 84ha * 30% 4,158
J| 4,158
42,850 38,000 4,850
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 42,850 38,000 4,850
01 M= 4l 42,850 38,000 4,850
O Ta=a 2 YN #LNAH 2
283,000& = 100kg 28,300
O SHs2 NSHEHIE B 7Y
48,5003 * 300kg 14,550
N=EEEHe NIAS 106,000 24,000 82,000
J| 50,000
Al 56,000
402 2I2H X201 M 106,000 24,000 82,000
J| 50,000
Al 56,000
02 QI 2 A EZ(OI X TH ) 106,000 24,000 82,000
O Jsadel NEOHEAL)
62,500,000 = 402 = 42.4% 106,000
J| 50,000
Al 56,000
St SOHA & 211,416 146,120 65,296
J| 91,644
< 35,932
Al 83,840
301 LeHBAF 211,416 146,120 65,296
J| 91,644
< 35,932
Al 83,840
12 JIEtE4 = 211,416 146,120 65,296
O SdsSOtAE ALY XI&
211,416,000& * 14 211,416
J| 91,644
< 35,932
Al 83,840
dEd s N 57,200 48,080 9,120
< 16,560
Al 40,640
301 LeEBAF 32,000 36,000 A 4,000
< 9,600
Al 22,400
12 JIEtE &= 32,000 36,000 A 4,000
O zgA Ep42 Ma oZH X8
2,000,000& = 1600 2 32,000
< 9,600
Al 22,400
307 21201 A 13,200 4,080 9,120
< 3,960
Al 9,240
02 QItFAAHE X 13,200 4,080 9,120
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Sl mMEA AM XS (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O &&d 08 s H N2
120,000 » 40MIE 4,800
= 1,440
Al 3,360
O &l&ed =& X&H X
80,000& = 21000 = 50% 8,400
< 2,520
Al 5,880
402 RI2FX=201 A 12,000 8,000 4,000
< 3,000
Al 9,000
02 QI EAIS EZ (OIS ) 12,000 8,000 4,000
O S22 =M34s3 84 N
0,000,000& * 2JH 4 * 60% 12,000
= 3,000
Al 9,000
stead 54 & 30,792 8,350 22,442
< 2,152
Al 28,640
301 LEHZ 1,350 1,350 0
12 JIEBHE4 3 1,350 1,350 0
O 822L3|, BHCEAN A EF S4atsDt
gat 1,350
o M= 10,000& = 30kg * 3% * 13/ 900
o H4sI 28H B4
150,000& = 3% » 1 450
307 glz2tol & 23,610 2,200 21,410
< 402
Al 23,208
02 YAFHAANHEE 23,610 2,200 21,410
O s ESEZE SEAMY N (NAME A
) 44,000,000& = 141 x 50% 22,000
O sesEME XA 7,000& » 2305 1,610
< 402
Al 1,208
402 RI2HXt20| 5,832 4,800 1,032
< 1,750
Al 4,082
02 It 2 AL EZ(OI X THS) 5,832 4,800 1,082
O 82 Ns=2Z28&EX &4x N2
60,000& = 16270 = 60% 5,832
= 1,750
Al 4,082
FAE MADIEE £ 4 141,720 55,220 86,500
< 17,025
Al 124,695
202 odl 720 720 0
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SRl mMEM AM X CERED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
01 = LH 4 bl 720 720 0
O BUAE N 2 WHY? =7
20,0003 = 2H « 183l 720
206 M= Hl 25,250 0 25,250
< 5,050
Al 20,200
01 =8l 25,250 0 25,250
O ZgIlol el D=2 AEHA23H X
14,000,000& * 14 14,000
< 2,800
Al 11,200
O g4 dad gta N2 250,000& * 45& 11,250
= 2,250
Al 9,000
307 21201 A 38,250 4,500 33,750
< 4,725
Al 33,525
06 23 38,250 4,500 33,750
O JIH=EMolE2eg XA
3,000,000& * 215 * 25% 15,750
< 4,725
Al 11,025
O =Tl 28 X2 (XAMESAL)
3,000,000& * 30& * 25% 22,500
402 RIZ2FXt201 ™ 77,500 50,000 27,500
< 7,250
Al 70,250
01 QU2 X2 AF 2 2= (REXIKH &) 50,000 50,000 0
O =AF Mololeg SZHd X2
10,000,000& * 10902 * 50% 50,000
02 RIZE X2 AL EZ (OIS ) 27,500 0 27,500
O Jt= ZgIol X AI&&d X&
7,000,000& * 5JH A » 50% 17,500
= 5,250
Al 12,250
O 2EAMSAE & MM X2
20,000,000& * 15 * 50% 10,000
< 2,000
Al 8,000
gatgy =4 X 57,500 64,000 A 6,500
< 7,000
Al 50,500
307 21201 A 40,000 36,000 4,000
02 HAFHAANGFEX 40,000 36,000 4,000
O &y 2 MY 32 N
10,000& = 8,000kg * 50% 40,000
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402 BI2FX=01 M 17,500 28,000 A 10,500
< 7,000
Al 10,500
02 QI EASEZ (01X ) 17,500 20,500 A 3,000
O =d4y |4 2,500,000& * 14 A + 50% 17,500
< 7,000
Al 10,500
SUAH 2 A 337,590 530,490 A 192,900
< 11,450
Al 326,140
202 odl 1,940 1,940 0
01 = LH o4 1l 1,940 1,940 0
O SMUYUSE 942 =7
20,000& = 2% = 233 920
O FSMAH (5L - &) A
85,000& = 3Y¥ « 43| 1,020
301 LEBEAS 37,750 35,750 2,000
09 HALAHIX RS 7,750 5,750 2,000
O BHSEE3 U SHAIY A8 FA0H|
0,000& = 25% =« 23| 2,500
O LdEsIH AJlz ASE#A 40U
0,000& = 20 « 13l 1,000
O 2AHsIH Adlzs AS#A A0
0,000& = 20 « 13l 1,000
O Zd=ssIh AlJls ASE#A A0
50,000& * 20 * 23| 2,000
O FAAIE & JotelE+d s WS FH0
50,000& = 25% « 13| 1,250
12 JIEtEA 3 30,000 30,000 0
O N3|ML HA Hd2 NS (MM )
150,000& * 4005 * 50% 30,000
307 glz2tol & 234,900 192,300 42,600
< 11,450
Al 223,450
02 RIZFE MM E X 234,900 192,300 42,600
O se=edd 23 XN (NI =)
20,000& = 5,000 * 75% 75,000
O D2 s +F2 04
500,000& = 505 = 50% 12,500
O ¥==0 HHEBAR 7Y N (KNRHEA)
500,000& = 1,000= * 20% 100,000
O e Mol B4 X
10,000& = 1,200kg * 70% 8,400
< 2,400
Al 6,000
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O 4 AFM2ZH SSM(ER)
5,000,000& = 3& = 50% 7,500
< 2,250
Al 5,250
O 4 AFHM2ZH SS M (HX)
7,000,000& = 5& = 50% 17,500
< 3,800
Al 13,700
O 4 AFNM2H SSME(H, 22l)
5,000,000& * 4& = 70% 14,000
< 3,000
Al 11,000
402 BI2EX=0| M 63,000 66,000 A 3,000
01 2IZEH 2 A B (KM ) 63,000 66,000 A 3,000
O gE=sI 2= WA XA
600,000& = 1105 = 50% 33,000
O SA &3] &dx X
400,000 = 150CH = 50% 30,000
LHEEXEHH X2 2,400 0 2,400
= 1,200
Al 1,200
402 QI2H X201 M 2,400 0 2,400
= 1,200
Al 1,200
02 QIZIH 2 AL EZ (OIS ) 2,400 0 2,400
O LLEEXFHY XA
4,000,000& = 141 = 60% 2,400
= 1,200
Al 1,200
S0/ 22l XA (XXISHA) 17,559 17,520 39
J| 8,773
< 2,632
Al 6,154
307 21201 A 17,559 17,520 39
J| 8,773
< 2,632
Al 6,154
02 It M AHE L 17,559 17,520 39
O sar20/g 22 (A DI01EH HE 224])
A& 9,600&  1,8295% 17,559
J| 8,773
< 2,632
Al 6,154
stuesasa XN 523,192 562,225 A39,033
J| 313,915
< 62,783
Al 146,494
301 LA F 523,192 562,225 A 39,033




<

n0

Kio

Hl w

A 39,033

11,706

13,356
13,356

13,356

13,550

H3r
Wikd
RIS

562,225

156,096

60,680

16,280
16,280

44,400
44,400

49,500

6,500

4,000

2,500

Off &t 24

313,915
62,783
146,494

523,192

Jl

H

Al

523,192

313,915

62,783
146,494
167,802

Jl

H

Al

fir

5,020
7,190

165,592

H

Al

74,036
13,356

13,356
13,356
9,621

1,925

1,156
654
16,280
16,280
11,640

4,640

44,400
44,400

14,400
30,000

35,950

H

7,190
28,760

Al

6,500

H

1,300
5,200
4,000

Al

4,000

800
3,200
2,500

12 JIEt

144

2 *

523,192,000

ol

<r
Mo
Ok

E]
ol

of
H
Ol
Ho

oD
=<
1of
H

i
o

oI H

101

<+

ulo

04 JI2tHI2 2 &t

30
U

<4
o
iy
i
o

ok
ioJ
o
il
or

Ot
1o

=
e

g » 58 « 28

o
=

2l %

68,720

il

oJ

0

% 1%« 28F

o
=

68,720

0o
3+
10k
K-

0

=
e

1

=Y
[und

4o« 18 ~ 62 + 28
654,000& =
20,0008 5825

=

o

6,880

206 M= Hl
01 = dl

ol

o

KO

O

ol
H

KA

O
(o

U

=
=]

[uind

2 ox 200 « 2

e

116,000

o
&l
H

1)
oll

ro
<0
H

b

12 JIEt

Ty

Kl

A0
K]
<
ol
<
of
iy

O
(o

U

[und

2 x 8% * 128

e

150,000

il
]
H

0l
o

U

30
0B
o)
oll

201

01 At 22l bl

i)

ok

-

ol
K]

H
100

il
o
iy
]
o

Al
Ay

[und

2 % 5

i

800,000

30
(Ud
H0
A0




A s
HE: BNY AW B SYHSLM/5Y - 58)
e S28s (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
CEFEEEE PG EET]
500,000 * 53| 2,500
& 500
Al 2,000
206 M = Hl 8,600 8,600 0
== 1,720
Al 6,880
01 X2 H| 8,600 8,600 0
O RIES 7% ZHEH 2
2,000,000& = 1A 2,000
= 400
Al 1,600
O RS2 NE L A2 2
20,0008 = 3305 6,600
& 1,320
Al 5,280
301 et A= 20,850 32,850 A 12,000
= 4,170
Al 16,680
12 JIEtE2 &= 20,850 32,850 A 12,000
O RJse 254 224 N
150,000 * 139% 20,850
o=t 4,170
Al 16,680
S4a - RIISES L2H NS 5,200 5,000 200
2 2,080
Al 3,120
301 et A= 5,200 5,000 200
= 2,080
Al 3,120
12 JIEtE A2 5,200 5,000 200
O R4 - RS2 U X
200,000& * 525 * 50% 5,200
= 2,080
Al 3,120
I -REASE x2S KNE 11,700 0 11,700
= 2,340
Al 9,360
301 LBt A= 11,700 0 11,700
= 2,340
Al 9,360
12 JIEtE A2 11,700 0 11,700
O |4 RSS2 7Z25 N
65,000 = 1800}e2l 11,700
= 2,340
Al 9,360
2DY0l BHs4+2H N 3,416 3,416 0




SN LI
HE: BNY AW B SYHSLM/5Y - 58)
thel: S28s (9 ® =)
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= 600
Al 2,816
301 LEAZ 3,416 3,416 0
= 600
Al 2,816
09 HALAHIX A S 416 416 0
O 2120 S43H(TNR)AIY E2sl &4 At
g4 8,000& = 13¥ = 43 416
12 JE2 4= 3,000 3,000 0
O 21020l E43H(TNR) =4l K&
150,000& *» 205 3,000
= 600
Al 2,400
220l S35 X2 A (KA 37,500 37,500 0
301 LEXZ 37,500 37,500 0
12JEEd=S 37,500 37,500 0
O 21020 S43HTNR) AL
150,000& * 2505 37,500
SNE Y & g2 19,324 19,324 0
= 450
J| 6,400
< 1,440
Al 11,034
ELE HACCP HAEE (R ESEAH) 11,200 11,200 0
J| 6,400
< 1,440
Al 3,360
307 gl2tol & 11,200 11,200 0
J| 6,400
< 1,440
Al 3,360
02 It M AHE L 11,200 11,200 0
O =42 RSEH HACCP A& 8 X2
8,000,000& = 204 = 70% 11,200
J| 6,400
= 1,440
Al 3,360
SHE M & 8,124 8,124 0
= 450
Al 7,674
201 £B-2%H| 4,850 4,850 0
01 At 22l 4,850 4,850 0
O =42 A EAE ¢ 7,000& = 35004 2,450
O ZNSTHAL BALX S MA
10,0002 * 2402 2,400
202 o4dl 1,040 1,040 0
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=z N H
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S EHE . (BH) - NEAY - BAS %Eﬁ HR=2
SSHHE 2GS (MEH|) 160,007 160,623 A616
J| 80,003
= 24,002
Al 56,002
307 2Iz2to| & 160,007 160,623 A616
Dl 80,003
= 24,002
Al 56,002
05 QIZt &2 160,007 160,623 A616
O Z2=s2LHE M=Edl XS
160,007,000 * 14! 160,007
J| 80,003
& 24,002
Al 56,002
EXY HYAE N 4,290 4,320 A30
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Al 3,003
206 M EHl 4,290 4,320 A 30
& 1,287
Al 3,003
01 X2 Hl 4,290 4,320 A 30
O A HIOIHA EAIE olgtes Al X &
1,100,000& = 14! 1,100
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O A~ A" X)X C o= 114
1,890,000 * 14! 1,890
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Al 1,323
O X MAISEISEZ HA 2 K&
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=Y HASLH K& 6,000 9,300 A 3,300
o=t 2,400
Al 3,600
206 i 2t 6,000 9,300 £3,300
o= 2,400
Al 3,600
01 X Z Hl 6,000 9,300 A 3,300
O JI=EY HASAH N
6,000,000& = 1A 6,000
= 2,400
Al 3,600
EgHESH (B49) X 36,000 36,000 0
o 7,200
Al 28,800
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301 LEHZ 36,000 36,000 0
< 7,200
Al 28,800
12243 36,000 36,000 0
O 39 Jt=seddEs N
1,000,000& » 3% » 12& 36,000
< 7,200
Al 28,800
A 2etesItilzdl N3 10,000 0 10,000
= 3,000
Al 7,000
301 EEMZ 10,000 0 10,000
= 3,000
Al 7,000
12 JIEBHE4 = 10,000 0 10,000
O A7 &2zt &84 X
50,000& = 4005 = 50% 10,000
< 3,000
Al 7,000
HAOFS AFMI M 2Dl KI& 30,000 0 30,000
= 9,000
Al 21,000
402 RI2EX20| ™ 30,000 0 30,000
< 9,000
Al 21,000
02 2IZF 2 A EZ (01X TH ) 30,000 0 30,000
O HAIE AHMIX el K&
30,000,000& = 2JH 4 = 50% 30,000
< 9,000
Al 21,000
M XA 303,979 290,640 13,339
101 @124l 52,108 39,019 13,089
04 D12t 22 HEE = 52,108 39,019 13,089
O Al - FHSE JHHLYA HELASAMERS 52,108
o o2 68,720& * 3F * 5 » 36= 37,109
o FHRE 68,7203 * 3H » 36> 7,422
o MEdzg EdaY
6,880& * 3Y * 6Y x 36=F 4,459
o MIEE= 3,117,170& = 14 3,118
201 2yt 2 Y| 11,520 11,520 0
01 At 22l I 10,520 10,520 0
O Let=&H| 7,520
o JIEHEd 228 49 M
80,000& * 7JH 4 * 23] 1,120
o Jt=e9d JIE8 MZE  2,000,000& * 14l 2,000
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O Al - MY A Al L HH| K&
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O AER0 MAAY =& XE
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O ANERN - ESH2S sdHLEE AXX HX
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O o2 Hsglol s &4 AlY| Ak (
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= - — SHE]|
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10,281& = 23H » 57A12H « 128 161,741
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O SSEAFA g+
50,000& = 18 = 12& 600
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PIEET 273,303 277,684 £ 4,381
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02 8323l 126,504 126,504 0
O 3322 % MA sdAH 4
82,115,000& * 14 82,115
O dZH SHH & 2,000,000& * 14 2,000
O AIEZEHIKXH SHAH L
26,389,000& * 14! 26,389
O Xtg - &2dl SHAH 4 16,000,0008 = 14 16,000
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